Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions

Stability Components: Feet and Fin Outriggers

Table of Contents

Feet: single and double sided foot 1-6
Square Anchored Foot Plate 7-13
Fin Outriggers 14-19

Rockwell Unscripted ®
August 11, 2020 KnO“ Sheet a



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions

Feet
Pattern Numbers Represented: Tools Needed:
Unscripted Borders Feet 1 Sided, UBF1__ Drill
2 Sided, UBF2__ Phillips #3 Bit
Unscripted Border Feet Extended Height Bracket, UBFHEB 12” Bit Extension

2" Box Wrenches (2)
Part List: 3/16” Allen Wrench

A) 1-Sided Foot Plate (1 per assy)

B) 2-Sided Foot Plate (1 per assy)

C) Upper Foot Bracket (1 per assy)

D) Lower Foot Bracket (1 per assy)

E) 5/16-18 x 3/4” Flat Head Screw (4 per asy)

F) 5/16-18 x 5/8” Hex Head Screw (4 per assy) (C)6AJ1296 (D) BAJ1201 (D) 6AJ120102

G) 5/16-18 Hex Nuts (4 per assy) (B) 6AJ120802 (UBFHEB)
H) ¥4-20 x 3-1/4” Pan Head Screw (H) (4 per assy)

STEPS: mwﬂ @ mmmmm@ L

Note:
- (E) 6AJ1215  (G) 6AJ4111  (F) BAJ1217 (H) 6AJ4022
e The Wall Stability Guidelines must be

consulted and followed for proper positioning

=

(
(
(
(
(
(
(
(

and spacing between Feet and other support
features. /’ /
e The 1-sided and 2-sided foot assemblies are
the same except for the foot plates. 5/16-18 x 5/8"
e Feet can be mounted at three locations. QE)R('EIVFI?%
Specified layout is to be followed:
- The end of a Wall Frame.
- Straddling or adjacent to the joint between 5/16-18
two Frames. HEX NUT (G)
- Straddling or adjacent to 2” Mid-Upright.
* Feet are installed at glide mounting points. If a EEZECT(IE:'IQ(OC-I;

Glide Bracket is already installed at the
specified foot location, remove the Glide

Bracket and relocate it to an adjacent i Wsm 6-18 x 3/4"

mounting point if possible. : i \ ? b FLAT HEAD SCREW (E)
* Feet accommodate the standard 1.75” height : : !
adjustment range. The Extended Height [ p
Bracket (UBFHEB) provides a substitute '
Lower Foot Bracket (D) for an additional 1.75” “:] ‘
I

I
BRACKET (D)
1. Attach the Lower Foot Bracket (D) to the
appropriate Foot Plate (A or B) using (4)

I
5/16-18 x 3/4” Flat Head Screws (E). I

2. Install the Lower Foot Bracket (D) with the
Upper Foot Bracket (C) using (4) 5/16-18 x
5/8” Hex. Head Screws (F) and (4) 5/16-18
Hex Nuts (G). Do not tighten the screws and
nuts at this stage.

Note:

It is critical to use the provided serrated
flanged 5/16-18 x 5/8” Hex Head Screws (F)
and serrated flanged 5/16-18 Hex Nuts (G).
The 5/8” Hex Head Screws (F) MUST be on
the outside of the brackets and kept loose
until Step 4.

Rockwell Unscripted ®
August 11, 2020 KnOII Sheet 1

height extension. [] \
! LOWER FOOT
I
74

/]

2-SIDED FOOT PLATE (B)



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Feet

3.

Install the Upper Foot Bracket (C) to the
bottom of the Wall Frame’s lower Horizontal.
Use (4) ¥4-20 x 3-1/4” Pan Head Screws (H)
from the top of the Horizontal. The assembled
foot can be slid under standing Wall Frames.

Note:

The Upper Foot Bracket (C) has 8 threaded
holes. The threaded holes used will be
determined by the foot location and corre-
sponding existing holes in the Horizontal.

WALL FRAME'S
LOWER
HORIZONTAL

STRADDLING
2" MID-UPRIGHT

Rockwell Unscripted ®

August 11, 2020

4. The 5/16-18 x 5/8” Hex Head Screws (F) and
5/16-18 Hex Nuts (G) are to be tightened after
the Wall Frames have been height adjusted
and leveled using the Glides. The Foot Plate is
to be flat against the floor.

Note:

Wall Frames can be plumbed by holding
the Wall Frames vertical as the 5/16-18 x
5/8” Hex Head Screws (F) and 5/16-18 Hex
Nuts (G) are tightened.

Further adjustments can be made before
tightening the 5/16-18 x 5/8” Hex Head
Screws (F) and 5/16-18 Hex Nuts (G) by

PAN HEAD
SCREWS (H)

1-SIDE FOOT ASSEMBLY
SHOWN AT 2" MID-UPRIGHT

2-SIDE FOOT ASSEMBLY
SHOWN AT 1" END-UPRIGHT

ADJACENT TO
2" MID-UPRIGHT

Knoll

L —1/4-20 x 3-1/4" —

pushing the Wall Frame slightly beyond
vertical but in the direction opposite of its
unadjusted tilt.

Wall Frame Stability can sometimes be
improved by using several 1-sided Feet (A)
on alternating sides of the Wall Frame. At
each Foot location push the Wall Frame
slightly beyond vertical but in the direction
opposite of the Foot before tightening the
5/16-18 x 5/8” Hex Head Screws (F) and
Hex Nuts (G).

=
. P |9
ADJACENT TO

1" END-UPRIGHT

Sheet 2



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Foot

STRADDLING ADJACENT TO ADJACENT TO
2" UPRIGHT 2" UPRIGHT 1" UPRIGHT

Rockwell Unscripted ®
August 11, 2020 KnO“ Sheet 3



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Foot

1/4-20 x 3" SCREW (H)

| \WALL FRAME

1" END-UPRIGHT

WALL FRAME
LOWER HORIZONTAL

FOOT ASSEMBLY

Rockwell Unscripted ®
August 11, 2020 KnO“ Sheet 4



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Foot

Rockwell Unscripted ®
August 11, 2020 Sheet 5



Rockwell Unscripted® Creative Wall® Replacement Parts

Rockwell Unscripted® Creative Wall® Replacement Parts

Feet

Description

Reference*

Replacement Pattern Number

One-sided foot plate kit, 16", with screws

—

6AJ1209
6AJ1215

KR6AJ1209( )
Includes:

B6AJ1209( ) - gty 1 (foot)
B6AJ1215 - gty 4 (screw)

Finish options: (111) jet black, (114) folkstone
grey, (115) medium grey, (118) bright white, (120)
black brown

Two-sided foot plate kit, 28", with screws

6AJ120802
6AJ1215

KR6AJ120802( )
Includes:

B6AJ120802( ) - gty 1 (foot)
B6AJ1215 - gty 4 (screw)

Finish options: (111) jet black, (114) folkstone
grey, (115) medium grey, (118) bright white, (120)
black brown

Foot bracket, upper

&

6AJ1296

KR6AJ1296

HLKR6AJ1296 24-Response
Includes:

B6AJ1296 - gty 1

Foot bracket, lower

&y
{
i}

=

6AJ1201

KR6AJ1201

HLKR6AJ1201 24-Response
Includes:

B6AJ1201 - gty 1

Scr, mach, flh, socdr, 5/16-18 x .75", with lockpatch

—

6AJ1215

KR6AJ1215

HLKR6AJ1215 24-Response
Includes:

B6AJ1215 - gty 1

(Total required per assy = 4)

Screw, hex head, serrated flange, 5/16-18 x .62", black

—

6AJ1217

KR6AJ1217

HLKR6AJ1217 24-Response
Includes:

B6AJ1217 - gty 1

(Total required per assy = 4)

Hex nut, serrated flange, 5/16-18, zinc

i

6AJ4111

KR6AJ4111

HLKR6AJ4111 24-Response
Includes:

B6AJ4111 - gty 1

(Total required per assy = 4)

Screw, pan head phillips drive, 1/4-20 x 3.25", black, with lockpatch

| [ i

6AJ4022

KR6AJ4022

HLKR6AJ4022 24-Response
Includes:

B6AJ4022 - gty 1

(Total required per assy = 4)

General Notes

1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity

limits and higher pricing apply.

2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by ( ).

3. * Not offered as an orderable service part number.

Rockwell Unscripted ®
August 11, 2020

Knoll

Sheet 6



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions

Square Anchored Foot Plate

Pattern Numbers Represented:
Unscripted Borders Square Anchored Foot Plate, UBFSA
Unscripted Border Feet Extended Height Bracket, UBFHEB

Part List:

(A) Square Foot Plate (1 per assy)

(B) Square Foot Plate Covers (2 per foot)

(C) Upper Foot Bracket (1 per foot)

(D) Lower Foot Bracket (1 per foot)

(E) 5/16-18 x 5/8” Flat Head Screw (4 per assy)
(F) 5/16-18 x 5/8” Hex Head Screw (4 per assy)
(G) 5/16-18 Hex Nuts (4 per assy)

(
(

H) ¥4-20 x 3-1/4” Pan Head Screw (4 per assy) (A) 6AJ1289 (B) 6AJ1290
|) Double-Sided Tape (4 per assy)

STEPS: mmmm]il @}

Note: E) 6AJ4094 G) 6AJ4111

e The Wall Stability Guidelines must be
consulted for proper positioning and spacing
between Square Anchored Foot Plates and
other support features.

e Square Anchored Foot Plates are required to
be screwed to the floor.

e Sqguare Anchored Foot Plates can be mounted
at three locations. Specified layout is to be
followed:

- The end of a Wall Frame.

- Straddling or adjacent to the joint between
two Frames.

- Straddling or adjacent to 2” Mid-Upright.

e Square Anchored Foot Plates are installed at
glide mounting points. If a Glide Bracket is
already installed at the specified foot location,
remove the Glide Bracket and relocated it to
an adjacent mounting point if possible.

e Square Anchored Foot Plates accommodate
the standard 1.75” height adjustment range.
The Extended Height Bracket (UBFHEB)
provides a substitute Lower Foot Bracket (D)
for an additional 1.75” height extension.

1. Attach the Lower Foot Bracket (D) to the
Square Foot Plate (A) using (4) 5/16-18 x 5/8”
Flat Head Screws (E).

2. Install the Lower Foot Bracket (D) with the
Upper Foot Bracket (C) using (4) 5/16-18 x
5/8” Hex Head Screws (F) and (4) 5/16-18
Hex Nuts (G). Do not tighten the screws and
nuts at this stage.

Note:

It is critical to use the provided serrated
flanged 5/16-18 x 5/8” Hex Head Screws (F)
and serrated flanged 5/16-18 Hex Nuts (G).
The 5/8” Hex Head Screws (F) MUST be on
the outside of the brackets and kept loose
until Step 4.

Rockwell Unscripted ®
August 11, 2020

L

(H) 6AJ4022

(C) 6AJ1296

¥

Tools Needed:

Drill

Phillips #3 Bit

12” Bit Extension

1/2” Box Wrenches (2)
3/16” Allen Wrench

L |

(F) 6AJ1217

| %

(1) 6AJ4126

// 5/16-18 x 5/8"
HEX HEAD
SCREW (F)

5/16-18
HEX NUT (G)

UPPER FOOT
BRACKET (C)

WSHG 18 x 5/8"

FLAT HEAD SCREW (E)

\LOWER FOOT

BRACKET (D)

SQUARE
ANCHORED
FOOT PLATE (A)

Sheet 7



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Square Anchored Foot Plate

3. Install the Upper Foot Bracket (C) to the Note: 4. Adjust the height and levelness of the Wall
bottom of the Wall Frame’s lower Horizontal. The Upper Foot Bracket (C) has 8 threaded Frames using the Wall Frame glides.
Use (4) ¥4-20 x 3-1/4” Pan Head Screws (H) holes. The 4 threaded holes used will be
from the top of the Horizontal. The assembled determined by the foot location and corre-
foot plate can be slid under standing Wall sponding existing holes in the Horizontal.
Frames.

| 4——1/4-20 x 3-1/4" —

' |  PANHEAD
y ) SCREWS (H)

WALL FRAME'S
LOWER
HORIZONTAL

FOOT PLATE ASSEMBLY
SHOWN AT 2" MID-UPRIGHT

FOOT PLATE ASSEMBLY
SHOWN AT 1" END-UPRIGHT

STRADDLING ADJACENT TO ADJACENT TO
2" MID-UPRIGHT 2" MID-UPRIGHT 1" END-UPRIGHT

Rockwell Unscripted ®
August 11, 2020 Kn0“ Sheet 8



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Square Anchored Foot Plate

5. Attach the Square Foot Plate (A) to the floor Note: cannot extend above the top surface of the
using appropriate ¥4” flat-head screws e Four %" Flat-Head screws, one in each Square Foot Plate (A).
appropriate for the floor type. This hardware corner of the Square Foot Plate (A), must « If the floor is significantly out of level at the

is not provided. be used. When possible, use the
outermost holes. The second hole at each
corner is to be used if the outermost holes
cannot be used. The heads of the screws

desired foot location, place shims under the
Square Foot Plate (A) at the appropriate
corners. Shim material is not provided.

@) @)
o
(o}

/ — 7
® ® o
o ® ® o
FLAT HEAD £ = /
, FLOOR SCREWS —— TOP VIEW
(NOT PROVIDED) © o ON
®\ \ ©
\ / SECOND HOLE
SQUARE ANCHORED
FLOOT PLATE (A) OUTERMOST HOLE
6. Tighten the 5/16-18 x 5/8” Hex Head Screws Screws (F) and 5/16-18 Hex Nuts (G) by (C). Peel the backer off one side of each
(F) and 5/16-18 Hex Nuts (G) installed in Step. pushing the Wall Frame slightly beyond piece of tape and position them on the top
Note: vertical but in the direction opposite of its surface of the Square Foot Plate (A) along
e Wall Frames can be plumbed by holding unadjusted tilt. each of the 4 sides. Remove the remaining
the Wall Frames vertical as the 5/16-18 x 7. Ensure that the Square assembly is accurately backer shest on each piece of Double-Sided
5/8” Hex Head Screws (F) and 5/16-18 Hex positioned, plumb, level and secure before Tape () and install the (2) Square Foot Plate
Nuts (G) are tightened. attaching the Square Foot Plate Covers (B). Covers (A) down onto the Square Foot Plate

Use the (4) 4” pieces of Double-Sided Tape () and tape. Firmly push the covers against the

e Further adjustments can be made before tape for at least 30 seconds

tightening the 5/16-18 x 5/8" Hex Head to attach the covers to the Column Floor Plate

WALL FRAME b ]
X - o B
L

§| r=
I =~ [
HE HE
I 1 0o @ @® o | |
\\\ | @E %@ | \\\
[ 3 [ /
TOP VIEW

SQUARE
FOOT PLATE
COVERS (B)

|

Rockwell Unscripted ®
August 11, 2020 KnO“ Sheet 9



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Square Anchored Foot Plate

(2]
R |9 ‘9 9 LK)
STRADDLING ADJACENT TO ADJACENT TO
2" UPRIGHT 2" UPRIGHT 1" UPRIGHT

Rockwell Unscripted ®
August 11, 2020 KnO“ Sheet 10



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Square Anchored Foot Plate

1/4-20 x 3" SCREW (H) ‘ il

! - f—
R
P t \WALL FRAME
X 1" END-UPRIGHT

—_——
e

WALL FRAME ® o
LOWER HORIZONTAL , 5/16-18 X 3/4" HEX HEAD SCREW (F)

UPPER FOOT BRACKET (C)¥ 6 5/16-18 HEX NUT (G)

2-SIDED FOOT PLATE (B)—\ X.

FOOT ASSEMBLY

Rockwell Unscripted ®
August 11, 2020 KnOII Sheet 11



Rockwell Unscripted® Creative Wall® Install Instructions

Rockwell Unscripted® Creative Wall® Install Instructions
Square Anchored Foot Plate

P

Rockwell Unscripted ®
August 11, 2020 Sheet 12



Rockwell Unscripted® Creative Wall® Replacement Parts

Rockwell Unscripted® Creative Wall® Replacement Parts

Square Anchored Foot Plate

Description

Reference*

Replacement Pattern Number

Square column floor plate

6AJ1289

KR6AJ1289

HLKR6AJ1289 24-Response
Includes:

B6AJ1289 - gty 1

Foot plate cover set

6AJ1290

KR6AJ1290( )

Includes:

B6AJ1290 - gty 2

(Total required per foot = 1 set)

Foot bracket, upper

=

6AJ1296

KR6AJ1296

HLKR6AJ1296 24-Response
Includes:

B6AJ1296 - gty 1

Foot bracket, lower

6AJ1201

KR6AJ1201

HLKR6AJ1201 24-Response
Includes:

B6AJ1201 - gty 1

Screw, flat head, socket cap, 5/16-18 x .62", black, with lockpatch

6AJ4094

KR6AJ4094

HLKR6AJ4094 24-Response
Includes:

B6AJ4094 - gty 1

(Total required per assy = 4)

Screw, hex head, serrated flange, 5/16-18 x .62", black

&

6AJ1217

KR6AJ1217

HLKR6AJ1217 24-Response
Includes:

B6AJ1217 - gty 1

(Total required per assy = 4)

Hex nut, serrated flange, 5/16-18, zinc

oan

6AJ4111

KR6AJ4111

HLKR6AJ4111 24-Response
Includes:

B6AJ4111 - gty 1

(Total required per assy = 4)

Screw, pan head phillips drive, 1/4-20 x 3.25", black, with lockpatch

——9)

6AJ4022

KR6AJ4022

HLKR6AJ4022 24-Response
Includes:

B6AJ4022 - gty 1

(Total required per assy = 4)

Double-sided tape strips (pad of 4)

=

6AJ4126

KR6AJ4126
Includes:
B6AJ4126 - gty 1 (pad of 4 strips)

General Notes

1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity

limits and higher pricing apply.

2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by ( ).

3. * Not offered as an orderable service part number.

Rockwell Unscripted ®
August 11, 2020

Knoll

Sheet 13



Rockwell Unscripted® Creative Wall® Replacement Parts

Rockwell Unscripted® Creative Wall® Replacement Parts
Fixed Fin, Enclosure Fixed Fin, Fin Outriggers

Description Reference* Width  Replacement Pattern Number
Fixed fin vertical starter 6AJ1329 KR6AJ1329( )
Finish options: (111) jet black, (114) folk-
stone grey, (115) medium grey, (118) bright
white, (120) black brown
(Note: fin starter is in vertical orientation when assembled to wall)
Fixed fin top filler rail 6AJ1328__ Includes: gty 1
B6AJ132801( ) 22" w KR6AJ132801( )
B6AJ132802( ) 24" w KR6AJ132802( )
B6AJ132803( ) 26" w KR6AJ132803( )
B6AJ132804( ) 28" w KR6AJ132804( )
B6AJ132805( ) 30" w KR6AJ132805( )
6AJ132806( ) 32" w KR6AJ132806( )
B6AJ132807( ) 34" w KR6AJ132807( )
6AJ132808( ) 36" w KR6AJ132808( )
B6AJ132809( ) 38" w KR6AJ132809( )
B6AJ132810( ) 40" w KR6AJ132810( )
B6AJ132811( ) 42" w KR6AJ132811( )
6AJ132812( ) 44" w KR6AJ132812( )
B6AJ132813( ) 46" w KR6AJ132813( )
B6AJ132814( ) 48" w KR6AJ132814( )
Finish options: (111) jet black, (114) folk-
stone grey, (115) medium grey, (118) bright
white, (120) black brown
Fixed fin glide bracket 6AJ114202 KR6AJ114202
HLKR6AJ114202 24-Response
Includes:
B6AJ114202 - gty 1
6AJ4088 KR6AJ4088
HLKR6AJ4088 24-Response
Includes:
B6AJ4088 - gty 1
Fixed fin glide, 3" overall nominal height 5750550 KR5750550
ZZKR5750550 24-Response
Includes:
5750550 - gty 1
(Total required per assy = 2)
Fixed fin glide block 6AJ1153 KR6AJ1153
HLKR6AJ1153 24-Response
% Includes:

B6AJ1153 - gty 1
(Total required per fin = 2)

General Notes

1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity

limits and higher pricing apply.
2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by ( ).
3. * Not offered as an orderable service part number.

Rockwell Unscripted ®

August 11, 2020

Knoll

Sheet 16



Rockwell Unscripted® Creative Wall® Replacement Parts

Rockwell Unscripted® Creative Wall® Replacement Parts
Fixed Fin, Enclosure Fixed Fin, Fin Outriggers (cont.)

Description Reference* Replacement Pattern Number
Fixed fin lock set 6AJ4095 KR6AJ4095
HLKR6AJ4095 24-Response
=3
— Includes:
— B6AJ4095 - gty 2
(Total required per fin = 2)
Spring slot rail nut, 1/4-20, black 6AJ4024 KR6AJ4024
HLKR6AJ4024 24-Response
‘é/; Includes:
< 6AJ4024 - gty 1
(Total required per fin filler = 2)
(Total required per fin starter = 2)
Fix fin starter spacer 6AJ1330 KR6AJ1330
Includes:
@ 6AJ1330 - gty 1
Screw, flat head, socket drive, 1/4-20 x 1.25", black 6AJ4093 KR6AJ4093
HLKR6AJ4093 24-Response
— Includes:
B6AJ4093 - gty 1
(Total required per fin starter = 2)
Screw, flat head, 1/4-20 x 1", black 7194140 KR7194140
Includes:
Eﬂ 7194140 - gty 1
(Total required per fin starter = 2)
Rubber D profile extrusion, Rockwell enclosures 6AJ413701 KR6AJ413701
Includes:
[m] B6AJ413701 - gty 1
Enclosures fin outrigger end trim extrusion, 4 inch 6AJ110404() KR6AJ110404()
Includes:
D B6AJ110404() - gty 1
Enclosures upper end outrigger bracket 6AJ4144 KR6AJ4144
Includes:

B6AJ4144 - gty 1

General Notes

1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity

limits and higher pricing apply.

2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by ( ).

3. * Not offered as an orderable service part number.

Rockwell Unscripted ®
August 11, 2020

Knoll

Sheet 17



Rockwell Unscripted® Creative Wall® Replacement Parts

Rockwell Unscripted® Creative Wall® Replacement Parts
Fixed Fin, Enclosure Fixed Fin, Fin Outriggers (cont.)

Description Reference* Replacement Pattern Number
1/4-20 nut plate 6AJ4053 KR6AJ4053
HLKR6AJ4053 24-Response
@ Includes:
B6AJ4053 - gty 1
Enclosures fixed fin wall outriggers spacer starter 6AJ4143 KR6AJ4143
- Includes:
BAJ4143 - ty 1
Enclosures fixed fin outrigger glide mount assembly with hardware 6AJ1323 KR6AJ1323
Includes:
<= BAJ4142 - gty 1 (glide bracket weldment)
- B6AJ4073 - gty 4 (screw, flh #8-32 x .50)
! 5750550 - gty 1 (glide, 3/8-16)
Enclosure fin wall hardware kit (16 screws) 6AJ4235 KR6AJ4235
Includes:
=] BAJ4235 - qty 1 (it of 16 6AJ4234)
(screw, flh, self drill #8 x .75)
Screw spacer, fixed outrigger 6AJ4148 KR6AJ4148
. Includes:
6AJ4148 - gty 1
Thin head hex bolt 1/4-20 x 1.25 (leveler) 6AJ4025 KR6AJ4025
HLKR6AJ4025 24-Response
I:Iﬂ Includes:
B6AJ4025 - gty 1
Screw, pan head phillips drive, 1/4-20 x 3.25", black, with lockpatch 6AJ4022 KR6AJ4022
HLKR6AJ4022 24-Response
[ [ ﬂ} Includes:
B6AJ4022 - gty 1
Screw, hex socket head cap, 1/4-20 x 1.125", with lockpatch 6AJ4149 KR6AJ4149
HLKR6AJ4149 24-Response
Includes:

1]

B6AJ4149 - gty 1

General Notes

1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity

limits and higher pricing apply.

2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by ( ).

3. * Not offered as an orderable service part number.

Rockwell Unscripted ®
August 11, 2020

Knoll

Sheet 18



Rockwell Unscripted® Creative Wall® Replacement Parts

Rockwell Unscripted® Creative Wall® Replacement Parts
Fixed Fin, Enclosure Fixed Fin, Fin Outriggers (cont.)

Description

Reference*

Replacement Pattern Number

Screw, flat head, socket drive, 1/4-20 x .875", black

—

6AJ4096

KR6AJ4096

HLKR6AJ4096 24-Response
Includes:

B6AJ4096 - gty 1

(Total required per fin = 2)

Screw, button head, socket cap, 1/4-20 x .5", black, with lockpatch

-]

6AJ4039

KR6AJ4039

HLKR6AJ4039 24-Response
Includes:

B6AJ4039 - gty 1

(Total required per fin = 6)

Screw, undercut flat head, phillips drive, 1/4-20 x .75", black, with lockpatch

—

6AJ1231

KR6AJ1231

HLKR6AJ1231 24-Response
Includes:

B6AJ1231 - gty 1

Set screw, dog point, 1/4-20 x .5", black, with lockpatch
)

6AJ4097

KR6AJ4097

HLKR6AJ4097 24-Response
Includes:

B6AJ4097 - gty 1

(Total required per fin = 2)

Screw, hex head, 1/4-20 x .75", Zinc

i

6AJ4089

KR6AJ4089

HLKR6AJ4089 24-Response
Includes:

B6AJ4089 - gty 1

Fin filler assembly hardware kit

o =t o ([ fh

6AJ4024
6AJ4095
6AJ4096
6AJ4039
6AJ4097

KR6AJO0069HWKIT
HLKR6AJO069HWKIT 24-Response
Includes:

B6AJ4024 - gty 2 - (spring nut)
B6AJ4095 - gty 2 - (lock)

B6AJ4096 - gty 2 - (scr, flh)

B6AJ4039 - gty 6 - (scr, btnhd)
B6AJ4097 - gty 2 - (set screw)

General Notes

1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity

limits and higher pricing apply.

2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by ( ).

Knoll

3. * Not offered as an orderable service part number.

Rockwell Unscripted ®
August 11, 2020

Sheet 19





